



C_3 は C_1 と $(2\cos\theta, 2\sin\theta)$ ($0 < \theta < \pi$) に接する。

$$(a, b) = ((2-t)\cos\theta, (2-t)\sin\theta)$$

$$(a, b) \text{ と } (1, 0) \text{ の距離の2乗は } \{(2-t)\cos\theta - 1\}^2 + \{(2-t)\sin\theta\}^2$$

$$= (2-t)^2\cos^2\theta - 2(2-t)\cos\theta + 1 + (2-t)^2\sin^2\theta = t^2 - 4t + 4 - 4\cos\theta + 2t\cos\theta + 1$$

$$\text{これが } (t+1)^2 \text{ に等しいから } t^2 - 4t + 5 - 4\cos\theta + 2t\cos\theta = t^2 + 2t + 1 \quad \text{---①}$$

$$2t\cos\theta - 6t = 4\cos\theta - 4, \quad t\cos\theta - 3t = 2\cos\theta - 2$$

$$t = \frac{2(\cos\theta - 3) + 4}{\cos\theta - 3} = 2 + \frac{4}{\cos\theta - 3}$$

$\theta = 0$ のとき $t = 0$

θ が大きくなると $\cos\theta$ は $-1 < \cos\theta < 1$ となるから t は大きくなる。

$\theta = \pi$ のとき $t = 1$

よって $0 < t < 1$

①より $(2t-4)\cos\theta = 6t-4$ $(t-2)\cos\theta = 3t-2$ $\cos\theta = \frac{3t-2}{t-2}$ よって $a = -3t+2$

$$\sin^2\theta + \frac{4t^2 - 12t + 4}{(t-2)^2} = 1 \quad \sin^2\theta = \frac{t^2 - 4t + 4 - 4t^2 + 12t - 4}{(t-2)^2} = \frac{-8t^2 + 8t}{(t-2)^2} = \frac{8t(1-t)}{(2-t)^2}$$

$$\sin\theta > 0 \text{ より } \sin\theta = \frac{2\sqrt{2t(1-t)}}{2-t} \quad \text{よって } b = 2\sqrt{2t(1-t)}$$

(2) $0 < t < 1$ のとき $t(1-t) = -t^2 + t = -(t^2 - t + \frac{1}{4}) + \frac{1}{4} = -(t - \frac{1}{2})^2 + \frac{1}{4}$ の最大値は $\frac{1}{4}$

よって b の最大値は $2\sqrt{2 \cdot \frac{1}{4}} = \sqrt{2}$